valent capacitance of the combination
The equivale

shown in the figure 15 :

C
—k
N s— |
—F
C
(1) 3C
@ 2C
@ CI2
@) 302

Polar molecules are the molecules :
(1)  having zero dipole moment.

(2) acquire a dipole moment only in the presence
of electric field due to displacement of
charges.

,Iu -

(3)  acquire a dipole moment only when magnetic
field is absent.

(4)  having a permanent electric dipole moment.

An infinitely long straight conductor carries a
current of 5 A as shown. An elec
with a speed of 105
The perpendicular
and the conduct
Calculate the mag
by the electyon at

tron is moving
m/s parallel to the conductor.
distance between the electron
or is 20 cm at an instant.

nitude of the force experienced
that instant,

Electron v =105 m/s

20 em
\
5A Q

(‘) 4X 10‘20N

(2)
(@)
(4)

&"X‘LQ"&ON

4"“"10*%
R

: ‘ P e 010 | PR
cross-section. The vVariation of m €d Ac)
dr .
due to the cable with the rlm-m Lm_,,ln{_
: SvaAllCa by e )
N . e
of the cable is represent, f

.(] l“\ : -rr”h

() B
r .
|
2 B
r——b
!
3 B :
r—b
!
(4) B
1——>

Ina potentiometer circuit a cell of E..\W‘
balance point at 36 cm length of WiFt
cell of EMF 2.5 V replaces the first
what length of the wire, the balanceF

(I)  60cm

@ 21.6cm
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AT LAV W v =
n., which one
 correct possibl
ind magnetic field (B) r

of the following cot&e==".
e directions for electric

especti\’ely ¥

A A A

..k’ J_*.Av

\ A A A

i+k, —j—hk

o, — =%

.\ A A A
I+k, —j+k

ctor of inductance L, a capacitor of
1ce C and a resistor of resistance ‘R’ are
d in series to an ac source of potential
e V' volts as shown in figure.

| difference across L, C and R is 40 V,
| 40 V, respectively. The amplitude of
flowing through LCR series circuit 1s

The impedance of the circuit is :

»er of photons per second on an average
y the source of monochromatic light of
‘h 600 nm, when it delivers the power of
3 watt will be : (h=6.6x 107 34Js)

8

7

10.

iy A

AL am-

rk tuncuuss. _ |
o e surface has de-Broglie wavelengt

emitted from th
Ng» then :
2m 2
= — |\
(1) A ( hc) .
2me |, 2
@ *d:[ h JA
2mce ), 2
= ——|\
@ * h J

Column - I gives certain physical terms associatel
with flow of current through a metallic conductor
Column - II gives some mathematical relation:
involving electrical quantities. Matcl
Column - I and Column - II with appropriate
relations.

Column -1 Column -1I1

m
A)  Drift Veloci :
A4) elocity ®) L2 .
(B)  Electrical Resistivity (Q nevy
: ) eE
(C)  Relaxation Period R —r
m
: E
(D)  Current Density S) =

O A-R), B)-S), ©)-P), D-Q
@, A-®), B)-S) ©-Q, D)-P)
@  (W)-®), BrP), (OO, D)@
@ W-®), B)-Q, ©)-S),D)-P)-

The escape velocity from the Earth’s surface is v.
The escape velocity from the surface of another
planet having a radius, four times that of Earth
and same mass density is :

(1) v
(2) 2v
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M6
12.

13.

14.

15.

fmass M and (l(‘I'IH‘If_V
filled with glycerine
[f the density

The velocity of a small ballo
d. when dropped in a containe?
¥ . O 1 e,
becomes constant after somd tim
: e aeting on
of glveerine 1s d— “then the viscous force a
. 0
the ball will be :

Mg

9

(1
(2) Mg

3
(3) ;I\'Ip,

4)  2Mg

A body is executing simple harmonic motion with
frequency ‘n’, the frequency of its potential energy

18 °

(1) n

2 2n
(3)  3n
(4)  4n

Water falls from a height of 60 m at the rate of
15 kg/s to operate a turbine. The losses due to
frictional force are 10% of the input energy. How
much power is generated by the turbine ?
(g=10m/s?)

(1) 10.2kW
2 8.1kW
3) 12.3kW
(4) T.0kW

A dipole is placed in an electric field as shown. In
which direction will it move ?

(1)

towards the left as its potential energy will
increase.

@) towards the ri
decrease.

Yowards the Jeft as
Crease,

ght as its potential energy will
6))

1t8 potential energy will
3

16.

| iy

18.

A capaciws v-

o .V given b’
qc source of voltage V, given b;

an
V= \,f'” ginwt

nt current betwe

r y 14 ac me p
I'he displace \d then be give

the capacitor, wou

(1) ]d _ V” wCeoswt
7
@) = }Q‘coswt

)

Wi, .
= —2- t,
(3) Id oC S1nw

@ I3=V, wCsinwt

A cup of coffee cools from 90°C to 8C
when the room temperature 1s 2
taken by a similar cup of coffee to
to 60°C at a room temperature sal

13
1) Et
13
2 gt
10
3) Tfit
b
4) Et

'
The effective resistance of a parallel
consists of four wires of equal lengt]
cross-section and same material is
will be the effective resistance if the
1n series ?

(1) 0250

2 050
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ch Column
(‘()]‘]'(\(lt

JhooRre
-Land Column - 11 nd ¢
match from (he given choweet:

Al
Column - | Column - 11

‘ )
Root mean square (M b
‘ | ‘ Ql
speed of gng molecules

T i)
Pressure exerted Q) Lt
B M

by idea) gas
-'\\.('}"1 — I 'r' AL
ARE Kineticenergy  (R) R'l
: 9

of a molecule .

i :
Total internal energy

of 1 mole of a

diatomic gas Qa a

(A)- (R), (B) - (P), (C) - (S), D) - Q)
(A)-(Q), B)-R), (€) - (S), (D) - (P)
(A)-(Q. (B)- (P), (©)- (S), (D) - (R)
(A)- (R, (B) - (). () - (P), (D) - ()

3 m
(S) Elil;l

1l block slides down on a smooth inclined
. starting from rest at time t=0. Let S be
stance travelled by the block in the interval

-1 to t=n. Then, the ratio is :

Sn-+-1
2n-—1
2n

2n-1
2n+1

2n+1
2n—1

2n
2n—-1

\active nucleus ‘;J X undergoes spontaneous
n the sequence

7-1B—>7.3C—>z-2D" where 7 is the
number of element X. The possible decay
es in the sequence are :

v, B~, B*
v, BT, B

23.

24,

26.

Iy s .flf-’«l.l!"(.‘ vl -

; ; m
carlmg'om T m—
. 52 divis1ont

100 rlivmmnls-t on
of the wire fro
(1) 0.h2 cm
(2) 0.026 cm
(3) (.26 cm

(1) 0.062cm

Jel plate capacitor has a umfﬁt;msellef(‘:
field ‘E’ in the space between the pddt}(ie.are;
distance between the plates is ‘d gnthe e
ecach plate is ‘A, the energy stored in

is: (€= permittivity of free space)

A p;n‘al

1 2
» %P
2 gEAd
1. E2Ad
@  5eoF
EZAd
) £g

The electron concentration in an n-ty
semiconductor is the same as hole concentrat
in a p-type semiconductor. An external fi

(electric) 1s applied across each of them. C omp
the currents in them.

(I)  currentin n-type = current in p-type.
(2)  currentin p-type >current in n-type.
(3) current in n-type > current in p-tvpe.

(4)  Nocurrent will flow in p-type, current
only flow in n-type.

A convex lens ‘A’ of focal length 20 cm and a conc
lens ‘B’ of focal length 5 cm are kept along
same axis with a distance ‘d’ between them.
parallel beam of light falling on ‘A’ leaves ‘B
parallel beam, then the distance ‘d’ in cm will

1 25
2 15
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. . 3 . . (2 lAss
prism. Refractive index of the g1ass

(1) 60°
2) - 30°
(3) 15

4 90°

LEs: W

Consider the following statements (A) and (B)

and identify

the correct answer.

(A) A zener diode is connected in reverse bias,

when

(B) The p

used as a voltage regulator.

otential barrier of p-n junction lies

between0.1Vto0.3V.

(1) (A) and (B) both are correct.

(2) (A) and (B) both are incorrect.

(3)  (A)1s correct and (B) is incorrect.

(4)  (A)isincorrect but (B) is correct.

Two charged spherical conductors of radius R, and

R2 are conn

ected by a wire. Then the ratio of

surface charge densities of the spheres (o 1/09) 18 :

Ry
(1) E

Ro
2) E

R

o (&

R
(4) R%

If force [F),
chosen ag th
Find the dim

W [Fa

an

acceleration [A] and time [T] are
e fundamental physical quantities.
ensions of energy.

1[T]

U] [A] [T2)

31.

32.

33.

vz (LT
[M][L"][T_]]

(2)
0
@ (M]LOTIT]
: -1
w ML
A lens of large focal length and la

best suited as an objective of a1

telescope since :
(1) alarge aperture coqtribute:
and visibility of the images.

(2) alarge area of the objective
light gathering power.

(3)  alarge aperture provides a be

(4)  all of the above.

A nucleus with mass number 240 b
fragments each of mass number 12

energy per nucleon of unfragmer
7.6 MeV while that of fragments is

total gain in the Binding Energy in {
(1)  0.9MeV

2) 9.4 MeV
(3) 804 MeV
4) 216 MeV

A particle is released f 1
surface of the Bay o

S 3gS
S
@2 S y3eS

4’ 2
@ 5 J3eS

2" 2
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Active nuclidoe is Il'“]""lllh

[ aln
Y Livity thnt wall remi!

rs \\‘l|||]‘| ba

r1 I
HE 18 htr(‘t(‘h

- e( 'R e .
Period of th, Hl‘i\ 5em by aforce 10N, The
E > osall: it .
Spended by 6~ Ations when a mass of 2 kg

0.0628 ¢
6.28 5
3.14
0.628 5

Section - B (Physics)

les LCR circuit containing 5.0 H inductor,
capacitor and 40 () resistor is connected to
variable frequency ac source. The angular
fencies of the source at which power
erred to the circuit is half the power at the
int angular frequency are likely to be :

25 rad/s and 75 rad/s
50 rad/s and 25 rad/s
16 rad/s and 54 rad/s
(2 rad/s and 58 rad/s

nducting circular loops of radii R, and R,
ced in the same plane with their centres
ng. IfR;>> R,, the mutual inductance M
» them will be directly proportional to :

o8
L2

i 1al

9.

40.

41.

Al Lue .
Illml-n [he 1l(|,’.ﬂ /ql"J parly
J1 Al ’ ) m
'Ill;n- hall 14 (# ]
m 0 kg M
y A2 g ™
(2
@ 2 kg
a 1.4 kg m/# £60cm from
jaced at @ distance a plan®
acet « - . .
A point obeCt L1 Jength 30 ¢ pal ax18
‘ :“”vvx len# of foc Jdicular t0 the pr;'n m 1t the
i srper p "
. were put PeTP {40 cm 1T
mirror Wi kv a distance 0 i of
of the len® el 1d be form¢ d at a distan
wolL

«—60 ap—pesiil ot

1d be a real

1 20cm from the lens, it wou
image. | 1

2) 30 cm from the lens, it would be 2 rea
image. |

@)  30cm from the plane mirror, it would be 2
virtual image-. |

(4) 20 cm from the plane mirror, 1t would be ¢
virtual image.

A uniform conducting wire of length 12a an
resistance ‘R’ is wound up as a current carryin

coil in the shape of,

()  anequilateral triangle of side ‘a’.

(i) asquare of side ‘a’.

The magnetic dipole moments of the coil in eas
case respectively are :

1) +/3laZand 3Ia®

2 3la?andla®

@) 3la%and 4 la®

4 4 a2 and 3 la?

A car starts from rest and accelerates at 5 m
At t=4s, a ball is dropped out of a window }
person sitting in the car. What is the velocity
acceleration of the ballatt=6s?

(Take g =10 m/s?)

(1) 20 m/s, 5 m/s?
2) 20m/s, 0

3  20¥2m/s, 0
(4)  20v2 m/s, 10 m/s2
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S = |7 =2 il I,
R = O AT e
l"'" hH"'”lf-s 1C

el T] ) . X7 1]1 Cll'Cl]]t' Tl]e

Three re¢ hlh“i o chown in th(‘ give
onnected as: |

are con e o

“ . in terms of resistances used

3 ofcurrents

‘atio
1 i N
in the circult 18 :

lg Ig

I

l) ro + I3
o

) Iro +1g
. I

) I +ry
9

) n +r3

particle of mass ‘m’ ig projected with a velocity
=kV (k< 1) from the surface of the earth.

e =escape velocity)

'e maximum height above the surface reached
the particle ig -

2
k
RloX"

tran.s ormder COnnected t,, anac majng
: O Operate
Ng powey losgeg i eat = e >

'I‘wnnty Seven dropg
220V €ach, They
Calculate the pote

(1) 660y

(2) 1320 v

(3) 1520V

4 1980V

3599745

46.  Forthe given circuit,

applied at the terminals A, Band C. What,

be the output at the t

Combh;

Jf‘ 85 n

the input digita] 8lgng

erminal y ?

(2)
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of radius R with a

A particle moving in a circle :
I_)ll'l(. Ont

uniform speed takes a time T to com
l'\‘\'l"lllltnn_
[fthis ; nAe
Particle were projected with the snme 8pet d
at an angle 4
height att.,
"tained by it equals 4R. The angle of

projectiog :
1, 0,18 thl'l] given by

(D

»m a circular ring of mass ‘M’ and radius ‘R’ an
‘corresponding to a 90° sector is removed. The
ment of inertia of the remaining part of the ring
ut an axis passing through the centre of the
r and perpendicular to the plane of the ring is
imes ‘MR?. Then the value of ‘K'is:

2
4

Q|-

GVL66G¢

| =

0" to the horizontal, the maximum

ty

49.

50.

A uniform rod of length 20-“;”;::8 ,Cum o
balanced on a wedge plact; e
ags of 2 kg 18 suspended f‘orlp s
nd ther unknown mass m’ is suspendec
nn{):t 160 cm mark as shown 11 the fzg
. »f ‘m’ such that the rod 1

10 m/8%)

and
the rod
[ind the value (
equilibrium. (g=

160 cm

0 20cm 40 cm

1

Q) ke
1

@ ke
1

3) gkg
1

4 R

(C)) T kg

In the product

- (—) —>)

F=qluxB

- ( A A A
=qu X Ba+Bj+BOk)

- A A
Forq=1and u=2i+4j+6£ and
- A A

F=4i-20j+12k

What will be the complete expression for E ?

A A A
D -8i-8j-6k
A A A
@ -6i-6j-sk
A A
@  8i+8j-gk
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el

57.

Section - A (Chemistryl

B i ,\"Imnll
The correct Hl‘ll\]l‘n('l‘t)IlINIH(I |-nt|l.'l|]'_\ of
s Y N & <O H: |
() CHy-FgCHy—Cl<CHy~ }:'.;-(‘.Ii.{ I
(2] (‘lil_l""(‘lit‘ (11-‘{‘]{1_[} (‘]l‘(l
@ CHy-F<CHy-Cl>CHy~ Br> Lt

@) CH,-Cl>CH,;-F>CHy

Which one of the following methods t'ilﬂll"' used to
obtain highly pure metal which is liquid at room
temperature ?

(1) Electrolysis

(2) Chromatography
(3) Distillation

(4)  Zone refining

The correct option for the number of body F:entrgd
unit cells in all 14 types of Bravais lattice unit
cellsis:

Q7
(2 5
3 2
4 3

Among the following alkaline earth metal halides,
one which is covalent and soluble in organic
solventsis:

(1)  Calcium chloride

(2)  Strontium chloride
(3)  Magnesium chloride
(4)  Beryllium chloride

Zr (Z = 40) and Hf (Z = 72) have similar atomic and
1onic radii because of :

(1)  belonging to same group

(2)  diagonal relationship

(3) lanthanoid contraction

(4)  having similar chemical properties

The maximum temperature that can be achieved
in blast furnace is :

(1) upto 1200 K
@  upto2200K
3 upto 1900 K
@ upto5000 K
What is the [UPAC na

rmed in the foﬂowin?iﬁi th? o;‘ganic compound
mical reaction ?
Acetom

i H.MgBr, dry Ethey
MmN o . (i) H,0, g+ Product

9

hB.

69.

60.

61.

Whicn e

rieAatlon
by addition P“I-Vm[ i

(1 Teflon
(2) Nylon-66

(3) N()VUIHC

“)

Rig

¢ option for t '
- ctjllrul voids 1n hexagonal prin

[Dacron

he number of te

octah

are :

1 8.4
2 6,12
@ 21
@ 12,6

Statement I :

Acid strength increases 1n the
HF << HCl << HBr << HIL.

Statement I :

As the size of the elements F, Cl,
down the group, the bond streng
HBr and HI decreases and so th
ncreases.

In the light of the above statems
correct answer from the options

(1) Both Statement I and St
true.

(2)  Both Statement I and St
false.

(3) \Statement I is correct by
1s false.

(4) Statement 1 is i

Statement I is true.

The incorrect statement among

(1) Actinoid contraction is gr:
to element than Lanthanc
(2) Most of the trivalent Lar

onlawlass fwdlis wntiid alwbs
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RS HERSRSTLTRISTTE  NALS

. wwnowing chemieal
1018 %

“CH-CH=CH,+HB, (C:H;C0),0,

—_— .

CH,4

._'l\
cH.” 1~ CHy~CH,~Br
CHR

“CH CH
. o—CH, -0-=000
CH3” 2 2= 0-COC-H,

CHz
CH - CH - CH.
CH;%/ I Hg
Br
CHS\
CHS/CBY— CH,—CH;

ructures of beryllium chloride in solid state
ipour phase, are :

Chain and dimer, respectively
Linear in both
Dimer and Linear, respectively

Chain in both

below are two statements :

ment I :

n and Paracetamol belong to the class of

ic analgesics.

ment I :
ine and Heroin are non-narcotic analgesics.
the
] tements, choose
light of the above sta ‘20

e or
ct answer from the options given

Both Statement I and Gtatement II are

true.
d Statement II are

Both Statement I an
false.

L Odadamant II

65.

66.

67.

10

‘\n org

: ganic ¢

ind L compound tontains 78y, (| .
ema Y Iarn ) 0Dy w 'y

' laining Percentage of hyds t.) carbe

Option for the @rogen. The rig|

T empirical formy,
- [Atomie wt. of 4 19 His 1
$ -, 8

()  CH
@  CH,
3)  CH,
¢4 CH

The correct structure of 2,6-Dimethyl-dec-4-en
1S :

; =

®3)

)

d in dehydrohalogenation

T jor 't forme .
Le major product _ : ‘
. e ¢ tane is Pent-2-ene. This

reaction of 2-Bromo pen .
product formation is based on?

(1 Saytzeff's Rule

(2) Hund’s Rule
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) ' yeaction 18
For a reaction A—B. enthalpy f’l I'¢ T: i
1.2 kJ mol~ ' and enthalpy of activd rofile
9.6 kJ mol !, The correct pntvnll:ll energy |
for the reaction is shown i option.
T /\
PE /
(1) X B
Reaction Progress
s PE /\
(2) : B
ey
Reaction Progress
h
_ A
(3) A B

Reaction Progress

/

N
i /\
@ PE &

Reaction Progress

Ethylene diaminetetraacetate (EDTA)ionis:

(1) Hexadentate ligand with four “0” and two
“N” donor atoms

(2)  Unidentate ligand
(3 Bidentate ligand with two “N” donor atomg

(4)  Tridentate ligand with three “N”

. donor

i\loble gases are named be
OWards reactjyit '

y. Iden an i
Statementaboutthem. i an RS

(1)
(2)

cause of thejp Inertness

Noble Bases are g

aringly :
Noble paga. 1 VAR Sl o

11

72.

73.

74.

75.

(\1'::;;::”11(1'” FoaCtiOIL & SuRpamem L
) 2KCIO3 3 ,2KCI+30,
(2) (fI-z():=+:£;\] -—"é"_"i\l‘_;_(),,‘Fz'
(3) Fe+ oHCl — FeCl, + HZT
(1) 9Pb(NO3)g 2PbO +4NQO,

The compound which shows meta:
1 CiHi
@) CyHgO
@) C3;HgO

4 C4H,,0

The RBC deficiency is deficiency d
(1) Vitamin B,

&  Vitamin By,

(3)  Vitamin B,

(40 Vitamin B,

Dihedral angle of least stable conf
is :

(1) 120°
(2) 180°
3  60°
@ o

Trjtium, a radioactive 1sotope of
which of the following particles ?
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VO > of 1 ff
lume of a gas at different

olume (V) —»
1m3)

00 K, 400 K, 600 K)

w
00

e

Volume (V) —
(dm?)

conducta

at infinite dilution are 12
1 respectively. The molar

_COOH at infinite dilution 18.
5 for your answer.
1

nce of NaCl, HCI and
6.45, 426.16

ight option

jne and pK, of acetic

80.

81.

h :
x M respectwe

ly at T (K).
N S} ¢

82.

83.

12

@ PO, © S
&  SF ‘-' (') Square pyramidal
© Brf () - Trigonal planar
P = 5 (fil) Octahedral
3 (tv)  Trigonal bipyramidal

( l] 107, - 2 . -
(\ll‘l(‘

below. 2

. 1
(}) (a)-(v), (h)-(n%i)‘ ()-(1), (d)-(i1)
(?Z) (a)-(11), (b)-(i11), (¢)-(1v), (d)-(1)
3)  (a)-(m), (b)-(), (c)-(v), (d)-(11)
(4)  (a)-(v), (b)-(111), (c)-(11), (d)-(1)

i‘denufy the (-lOIIl]T)OUI"ld that will react with Hinsberg's
eagent to give a solid which dissolves in alkali.

CH,
1 CHY No,
@ CcHY SNET
CH,
@ CHy NH,
/CH2 - CH2
@ cHy N7 cHy

The right option for the statement “Tyndall effect
is exhibited by”, 18 : _

(1) NaCl solution

@)  Glucose solution

(3) Starch solution

(4) Urea solution

BF ; is planar and electron deficient compound.

Hybridization and number of electrons around the

central atom, respectively are:

(1) spand4

@2 sp’andb

@) sp?and 6

(4) sp”and8

A particular station of All India Radio, New Delhi,

broadcasts on a frequency of 1,368 kHz (kilohertz).
gnetic radiation

The wavelength of the electroma .
emitted by the transmitter 18 : [speed of light,
c=3.0x108ms” 1

(1) 2193m
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Which one among the following is the correct option

for right relationship between Cp and Cy St
mole of ideal gas ?

(1 Cp+Cy=R

@ Cp-Cy=R

(3) Cp=RCy,

(4) Cy=RCp

The following solutions were prepared by dissolving
10 g of glucose (CgH 120¢) 1In 250 ml of water (P}),
10 g of urea (CH, N,(J) in 250 ml of water (Py) f"“d
10 g of ::,uume (Cl »Hy,0;,) in 2560 ml i

water (Py). The right option for the decreasing
order of osmotic pressure of these solutions s :

1) Py,>P,>P,
@2 P, >P,>P,
@) Py>Py>P,
4 P3>P,>P,

Section - B (Chemistry)

The intermediate compound ‘X’ in the following
chemical reaction is :

_A~_-CH; \
l +CrO Clz——» X @»/

N

@ [:::T/AHﬂOCOCng

A

o
oy

Cl
cH”
g

For iy
“mhe"mal ible expansuon of an idea]

-do_
13

oo s

88.

89.

yose the v’

. t ure of 4g Ogand &

Ch

a mix | 1
- ":”: l)I”v]nllunu of one litre at 0°C

(9] -

e nR=0. 082 L, atm mol ~ 'K
I(IIV(
(1) 2.518
2) 2.602
(3) 26.18

1) 26.02
r the value of v,

r ct option fo
Phe ciaers Sl C with benzer

of a solution at 45°
molar ratio 3 : 2is:
[At 45°C vapour pressure 01
280 mm Hg and that of octane 1

Assume Ideal gas]

(1) 160 mm of Hg
@ 168 mm of Hg
3) 336 mm of Hg
(4) 350 mm of Hg

The product formed in the folloy
reaction is :

0 0
Il
CH,—-C-OCH,
NaBH,
OH H
|
CH, - C—OCH,
|
(1) OH
CH,
0
CHy - CH, - OH
(2)
CH,
OH i
|
(3) OH
MLY
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)H()\.’k']ng pairs of 1ons which one is not
ronic pair ?

F-
, Mg2+

t Fed+

" Mn2+t

conducl:tivity of 0.007 M acetic acid is
mol. . What is the dissociation
acetic acid ? Choose the correct option.

0Scem? mol !

=508 cm? mol ™!

%x10-4 mol L~}
x10~4 mol L1
x10~% mol L1
110~ 5 mol L~}

1
of Arrhenius Plot [ln k v/s f) of first

tion is —5x 103 K. The value of E, of
nis. Choose the correct option for your

.8.314 JK~'mol ']
y ke mol ~!
) kd mol ~!
kJ mol ~ !

3 kJ mol !

ical

t ‘R’ in the given gequence of chemica
n

- i
N;CV Br
Br
Br v R o
aNO,, HCI
———
0-5°C g

97.

14

LilSL =1 Li1st - ll
CO, HCI
(a) ‘ » (i 1.
O Anhyd AICL/ (1) er.] Volhar¢
CuCl Zelinsky rea
(H)
(b) R-C-CHg+ (ii) Gattermann-
NaOX —— reaction
(c0 R—-CH,-OH (111) Haloform
+R'COOH reaction

Conc, HoSO4 |

(d) R-CH,COOH (iv) Esterification

(i) Xg/Red P
(i) Hy0

Choose the correct answer from the options gi
below.

1) (@-@v), (b)-G), (¢)-(id), (d)-(1i1)
@ (a)-(id), (b)-(id), (c)-(), (d)-(v)
3)  (a)-@), (b)-(iv), (0)-(iii), (d)-(ii)
@ (a)-(i), (b)-(ii), (c)-(v), (d)-()

Match List - I with List - IT.

List-1 List - 11

(a) ZSOZ(g) +0,(g) — (i) Acidrain
2504(8)

® HOClg) _hv, (i) Smog
OH+CI

© CaCOgt H,S0,— (i11) Ozone
CaSO, + Hy0+CO; depletion

(1v) Tropospheric

@ NOy@®
pollution

NO(g) +O0(®)

Choose the correct answer from the options giv

below.
(1) (a)-(1), (b)-(ii), (¢)-(in), (d)-(iv)

v oo AN 220 LA\ LY (AN-00)
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98. CH,CH,COO

).

NaOH, 7

e » CH,,CH,, 4
cn

Na'!
f\':i:.l'( )y

Consider the
missing reagent/chemical.

(1 B,H,

(2) Red Phosphorus
(3) Ca0O

(40  DIBAL-H

above reaction and identify the

Match List - I with List - I1.

List -1 List - 11
@  [Fe(CN)g]3~ (1) 5.92 BM
(b) [Fe(H,0))3 () 0BM
(c) [Fe(CN)g]* - () 4.90 BM
@  [Fe(H,0)4)2* (v) 1.73BM

Choose the correct answer from the options given
below.

(D (a)-v), (b)-(11), (c)-@), (d)-(iii)
2)  (a)-(), (b)-(iv), (c)-(iii), (d)-(3)
3)  (a)-Q), (b)-(ii), (c)-(iv), (d)-(ii)
4 (a)-(v), (b)-(), (c)-(ii), (d)-(iii)
In which one of the following arrangements the

given sequence is not strictly according to the
properties indicated against it ?

(1) HF <HC(I Increasing acidic
<HBr < HI strength

(2) Hy,0<H,S Increasing pK,

<H,Se <H,Te values

(3) NHj; <PH,4 Increasing
<AsH;<SbH,4 acidic character

4 CO,< Si0, Increasing
<Sn0, <PbO, oxidizing power

Section - A (Biology : Botany)
Match List - I with List - II_

List - I List - 11
| (@) |Protoplast fusion (1) Totipotency B
| (b) |Plant tisgye culture | (ii) [Pomato .
_(%_ Méristem culture | (jij) Somaclones
%&% (iv)|Virus free plants
00se the
ow - COTrect answer from the options given
@) (b) (
e C) d
O @) Gy e D

15

102.

103.

104.

105.

106.

107.

108.

109.

T & L
R rep
(1)

resents
Radiant energy

ation factor

2) l{vtm“d )
(f” la‘nvirrmmentfacto
. Respiration Josses
(1) |
are nc
hich of the following
Whic

' ts ?
metabolites 17 plan e
(1) Morphine, code )
no acids, glucos

2 Ami . _
(‘i; Vinblastin, curcumin
(4) Rubber, gums

The factor that leads to Found

population1s: .
Natural selection

1) T
EZ) Genetic recombination
3) Mutation
(4)  Geneticdrift

Amensalism can be represented as

1 Species A (—) ; Species B (0)
(2) Species A (+);Species B (+
(3) Species A (—); Species B (-
(4)  Species A (+); Species B (0)

A typical angiosperm embryo sac

(1)  8-nucleate and 7-celled
(2).  7-nucleate and 8-celled
(3)  7-nucleate and 7-celled
(4)  8-nucleate and 8-celled

During the purification process fi
DNA technology, addition of ¢
precipitates out :

(1) RNA '
(2) DNA

(3)  Histones

(4)  Polysaccharides
Gemmae are present in :

(1»  Mosses

(2) Pteridophytes

3)  Some Gymnosperms
(4)  Some Liverworts

Wh.ic_h of the following stages of i
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\

l.‘lll‘l i
VList 1 with Ling - 11

Lis .
IS( - I.IH! ,” o et

(1) [Phellogen

_ (__‘m Suberin r|"1‘“'“‘““”
(111) [Exchange of gRACE_
AIv) __IT}_II“I—Il_N-'i‘I'I'H )

Choose the

below Correct anawer from the option# gyl
a

i (a) (b) (c) (d)

, (av) (1) (m)

2) (1) (1) (av) (n)

Y (11)

)] av) @) (1) ()

lants follow differe
wironme

nds of structures. This ability is called :
Elasticity

F]e.tibﬂjty

Plasticity

Maturity

> term used for transfer of pollen grains from
.hers of one plant to stigma of a different plant
ch, during pollination, brings genetically
°rent types of pollen grains to stigma, is :

Xenogamy
Geitonogamy
Chasmogamy

Cleistogamy

h of the following plants is monoecious ?

Carica papaya
Chara -

Marchantia polymorpha

Cycas circinalis -

lete the flow chart on central dogma.

(b)

—

INA L
(a)-Replication; (b)-Transcription;
‘c)-Transduction; (d)-Protein

a)-Translation; (b)-Replication; |
¢)-Transcription; (d)-Transduction

al_-Ranlicatinn- (h)-Tra nscrintioni

16

it nt pathways in response to
or phases of life to form different

116.

1 8 iy

118.

119.

[ =
:"’1 ipc-ehaP° s
| — i) | ~ 101 appar2
— = I'Ik”‘(lH (”) W
(h) | Thylk — Infnldlﬂgih_.a
— | Gid) | ipochondr? ¢
1 re mitt ran
(o) |Centro™™” L ttened membf
— il a0
I - o ,n stfom
1 ae (IV} Hd(’s 1
(d) | Crstern lastlds tions £
ot answer from the OP
re

('hoose the cor

bl © @

(1) (iv) (1) (u) :11;

@2 (iv) (1i1) i ;

@) () V) @ !

@ @) ) Gv) @ | .
Mutations in plant cells can be induced DY -
(1) Kinetin

2) Infrared rays
(3) Gammarays
(4)  Zeatin

Which of the following statements s _not cor
(1) Pyramid of biomass in sea 18 gene
inverted. ‘ -

(2) Pyramid of biomass in sea 18 gent

upright.

(3)  Pyramid of energy is always upright.
(4 Pyramid of numbers 1in a gras:
ecosystem is upright.

Inspite of interspecific competition in nature,

mechanism the competing species might
evolved for their survival ?

(1)  Resource partitioning
(Zg Competitive release
(3)  Mutualism
(4)  Predation
Match List - I with List - I1.
(a) | Cohesion (1) MOI‘? attraction
liquid phase
Mutual attracti
(b) |Adhesion (i) |among water
molecules
(c) |Surface tension |(iii) Water loss in Li
hase
(d) |Guttation (iv) Attraction tows

polar surfaces
Choose the correct answer from the optior
below.

(a)

(b)Y (&) (d)
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CLIUVYY Udadliu>

iright orange bands
lark red bands
right blue bands

of the following is an incorrect
nt?

lature sieve tube elements possess a
mspicuous nucleus and usual cytoplasmic
-ganelles.

icrobodies are present both in plant and
umal cells.

he perinuclear space forms a barrier
'tween the materials present inside the
icleus and that of the cytoplasm.

uclear pores act as passages for proteins
1d RNA molecules in both directions
'tween nucleus and cytoplasm.

ne targetting involving gene amplification
ipted in an individual’s tissue to treat
1t is known as :

opiracy

:ne therapy

slecular diagnosis

fety testing

ist - I with List - II.
List -1

s with active cell
810n capacity

sue having all cellg
ilar in structure
function
sue having
Tent types of cells
d cells with highly
*kened walls and

TOow lumen

List - 11
Vasc ular
tissues

(1)

Meristematic
tissue

(1)

(111) | Sclereids

(iv) |Simple tissue

ne ¢
orrect answey from the options given

P.L) (b) (c) d
D@ g zm))
y 0w g
0.6 @ o
 of the ¢, '

naPep ,lfl\o‘_wing I8 a n..

17

126.

127.

128.

129.

130.

131.

132.

(4) Blue-green algae

Which of the following is not ap, ,
(Polymerase Chain Reaction) 2
(1) Molecular diagnosis

(2) Gene amplification

(3)  Purification of isolated prote;y,
(4) Detection of gene mutation

Genera like Selaginella and Salviniq
kinds of spores. Such plants are kp,

Pplic;

(1)  Homosorus

(2)  Heterosorus

(3)  Homosporous

(4) Heterosporous

Diadelphous stamens are found in -
(1) Chinarose

(2)  Citrus

(3) Pea

(4)  China rose and citrus

When the centromere is situated in
two equal arms of chromosomes, the
is referred as:

(1) Metacentric

(2)  Telocentric

(3)  Sub-metacentric
(4)  Acrocentric

Which of the following algae contain
reserve food material ?

(1) Ectocarpus
@)  Gracilaria
(3) Volvox

4)  Ulothrix

The amount of nutrients, such as carl
phosph_orus and calcium present in t
glven time, is referred gg

(1) Climax

(2)  Climax comm unity
(3) Standhjgstaue

4)  Standing crop

The first stable Product of CO, fixatic

18

(1) Pyruvic acid
(2) Oxaloacetjc acid
(3) Succinic acid



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

\A

A

D

1A

duction of gametes by the
Mmoot zygotes, the O and I9, plants, can
od from a diagram called

.l”l‘[ square

“‘”'I'“‘-"I-

be

mch square
mnett square
‘tsquare

on - B (Biology : Botany)

Jonential growth equation

8 l'Cpl‘USU]\tS 2
e base of number logarithms
e base of eXponential logarithms
2 base of natural logarithms
> base of geometric logarithms
lumn - I with Column - I1I.

nn -1 Column - 11

ICOCCUS (1) |Denitrification

iz (i) Conversion of
ammonia to nitrite

_ [ T

acillus |Gin) OH'\JEI s1on of nitrite
to nitrate
Conversion of

bacter | (iv)|atmospheric nitrogen
to ammonia

a correct answer from options given

(b)) © @
Gv) @) ()
G @) )
@) @ @
.- I with List - II.
iml List - II
_ |Proteins are
i @) synthesized
se (i1) |[nactive phase
Interval between
ant stage |(111) mitosis and imtlmtlon
J of DNA replication
se (iv)|DNA replication _
~rrect answer from the options given

140.

141.

142.

143.

18

a the proves» ~-

(erminate
ll:ll‘lt‘l‘i:l.
(3) The coding strand |
copied to an RNA.
Splhit gene arrangeme
prokaryotes.
3y A Q . io
Plasmid pBR322 has Pstl restrict .
R that confers a

e s )
within gene amj . _
[f this enzyme 18 used for 1nst

gene for B-galactoside prod}lctlon a

recombinant plasmid 18 inserted 1n an E.co&l

(1) it will not be able to confer amj
resistance to the host cell.

2) the transformed cells will have the

to resist ampicillin as well as p

B-galactoside.

3) it will lead to lysis of host cell.

(4)  itwill be able to produce a novel prote
dual ability.

DNA fingerprinting involves identifying diffe
in some specific regions in DNA sequence,
as:

(13 Satellite DNA

(2)  Repetitive DNA

(3)  Single nucleotides

(4)  Polymorphic DNA

Which of the following statements is corre

(1) Fusion of two cells is called Karyogas

(2)  Fusion of protoplasms between two 1
on non-motile gametes is called plasmo

(3)  Organisms that depend on living plar
called saprophytes.

(4)  Some of the organisms can fix atmos;

nitrogen in specialized cells called s
cells.

jina transcriptio!

nt is characte
(‘1)

n enzy

resistance.

Match Column -1 with Column - I1.
Column -1

(a) %(5 K5 Crvar @M@ +1G)

Columy

(1) Brassic

(b) 33K 5,C A5G, (i) Liliace
e .
O T W (iii) Fabac

@) #SK,,,CA,_ Gy (iv) Solane

Select the correct answer from the options
below.
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- CUWIHE HOACTIVE probe
to hybridise its complim
cells, followed by
autoradiography hecause -

() mutated gene partially
| photographic film
mutiated gene completely and clearly

its detection using

appears on g

2
appearson a phnfngr:nphi(‘ film.,

(3) mutated gene doeg not appear on g
photographic film as the probe has no
complimentarity With 1t

(4 mutated Bene doey ot appear on

photographic tilm as the probe has

cmnphnwntzn‘lt_\' with it.

Which of the fol]owing statements jg incorrect ?

(I) " Both ATP and NADPH + 4+ are
synthesized during non-cyclie
phot()phosphmylation.

@ Stroma lamellae have PS T only and lack
NADp reductase.

(3 Grana lamellae have both PST and PSII.

4)  Cyeclic photophosphorylatjon Involves both

PSTand pg 11.

limited to the termina] stage.

) In ETC (Electron TranSport Chain), one
molecule of NADH + g+ Bives rise to

2ATP molecules, anq one FADH2 glves rige

to 3 ATP moleculeg.

! ATPig Synthesizeq through complex V.

x1datlon-reduction reactiong Produce
Proton gradient j respiration

entary DNA ina clone of

150. In some members of which of the fol),
of families, pollen grains retain their-
months after releage ?

Poaceae : Rosaceae
Poaceae : Leguminosde
Poaceae : Solanaceae

151.

(3

(3)

(1)

¢y
)
)
)

]_;”'L{l‘ colorless “mprry
cells in the eprdermig
of grass leaveg

Indicot leaves. Vasculgy, . ,

cells

cambial ring

bundles are Surrounde tfﬂ;
by large thick-walleq

Cells of medullary rays -
that form part of cay
Loose parenchymg cells Spc
rupturing the epidermig par

and forming a lens.-
shaped opening in bark

Rosaceae - Legurninosae

Section - A

Match List -

Which

l'epresents the

Al
Thege Muscle k...

of the fi

ol]owing

(Biology ¢ Zoolog:

Sta tements wr
ture ofsnlooth muscle ?
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Live = =

g - )cnv
ndoplasmic reticulum. Mito¢

hh”-“"‘-’nlt’.\nn(] l,\'sn.-'l\lll"-"' l .
.ndoplasmic reticulum. Golgr comp

V'S0somes and Vacuoles q
' . . a 2Aan
olgi complex, Mitochondria, Ribosomes 8
_“~“‘(’.‘;f_-ln] es

.Dlg] complex, Endoplasmic reticulum.
1tochondria and Lysosomes

‘ntericus is referred to as :
inCI‘eathulq,

testinal juice

1Stric juice

Ve

ne of the following 18 an example of
>releasing [UD ?

T

‘G 20

7

dtaload 375

,c‘e) of the following belongs to the family

e fly
isshopper
kroach

1se fly

» makes 30% of the DNA molecule, what
: percentage of Thymine, Guanine and
nit?

WG 30::20

20:G:20;C:30

i0:G:20:C:20

0:G:26;:C:25

for sperm binding in mammals are

naradiata

line membrane
ntelline space
pellucida

he following is not an objective of
tion in crops ?

ove protein content

ove resistance to diseases

ove vitamin content

yve micronutrient and mineral content

le undergoes duplication during :

162.

163.

164.

20

(1) Arunniee

(2) Muscular d}'Stl’Ophy
(3) Myasthenia gravis
(4) Gout
\fatch List - 1 with List - II.
List - I List - II
: ] terata

(a) |Metamer1sm (1) Coelenh -

(b) |Canal system (1) Cteno’,? or

(c) |Comb plates (iii) |Annelida -
TC_l) (Cnidoblasts (1v) Porifera

Choose the correct answer from the options g
below.

@ B © @
M G @ @O
@ @ m O W
@ G v @ O
@ G O @ @

During the process of gene amplification w
PCR, if very high temperature is not maintai
in the beginning, then which of the following s
of PCR will be affected first ?

(1) Annealing

(23 Extension

(3) Denaturation
(4)  Ligation

Read the following statements.
(@ Metagenesisis observed in Helminths.

(b)  Echinoderms are triploblastic and coelor
amimals.

(¢ Round worms have organ-system lew
body organization.

(d)

Comb plates present in ctenophores he
digestion.

()  Water vascular system is characterist
Echinoderms.

Choose the correct answer from the options g
below.

(1) (c), (d) and (e) are correct

A IS QY T, UPE [ S, e e X
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I"l\ll:‘.\“l”“'” “‘,“ l
! Hed oy, ‘
(H ClCy ““JI‘““'”“' "”""Iul
(<) -L““'rllﬂrqllwrw
()Y (‘.'\ll'!l‘
h P!‘H]‘U.‘.'ll]l']"v
\\ I‘llt'l
R
— l}llu Only oy YIMEThag Dy il iy
alvae
ety . Mg ) Loy AHon ’l'n-rnmmlinn
OC NN " |
! : Il U8R o trnnng b tion iy, PrOKnry oy 0
\ { DNA . Pendent DN POIY ey
) '
\\:x DN A |, Pendent RNA POLY o
() “.\\l PR
b DNuise

A specifie recopnition sequengee
vndmmclv:mc-s to

within the DNA i

identificd by
make cuty specific positions

N

(1N Degenerate Primer sequence

(2) Okazaki sequences

(3) Palindromic Nucleotide BOqUences
(-H Poly(A) tail sequences

The fruit fly has 8 chromosomes (2n) in each cell.
During interphase of Mitosis if the number of
chromosomes at G, phase is 8, what would be the
number of chromosomes after S phase ?

(1) 8
(2) 16
3 4
(4)¢ 32

Sphincter of oddi is present at :

(1y  Ileo-caecal junction
“(%) Junction of hepato-pancreatic duct and
duodenum

(3)  Gastro-oesophageal junction
4)  Junction of jejunum and duodenum
Vlatch List - I with List - I1.

List -1 List - II
(a) |Aspergillus niger 1) [Acetic Acid
(b) |Acetobacter aceti 1) |Lactic Acid
(¢)|Clostridium butylicum [(iii) [Citric Acid
(d) | Lactobacillus (iv) [Butyric Acid

| > I 1 1 3
“hoose the correct answer from the options gl:1m

A/
22

1’71 Whih tinver oof L fr,lluw,,,“ YRy Y
il provectigpinhae l'my, batrrraens 7
)y /"V’v'r;ph for
(2) Hemideactylin
() Moreropnin
),  Ornithorhynchis

172, In n croms between a male and fe,

heterozygous for sickle cell anaem;,
percentage of the progeny will be dige.:

(1)  bO%

(2) 5%
) 25%

‘B 100%

178.  The partial pressures (in mm Hg) of «
and carbon dioxide (COy) at alveoli
diffusion) are -

(1) pO,=104and pCO, =40
2 pO,=40and pCO,=45
3)  pO,=95and pCO, =40
(4f pO, =159 and pCO,=0.3

174.  Veneral diseages can spread through
(ay  Using sterile needles
(b)  Transfusion of blood from infect
(©  Infected mother to foetus
@  Kissing
€  Inheritance
t())e}ll:))?vge the correct answer from the o)
(I (a), (h) and (c) only
@ (), (c)ang (d) only
3  (b)and (c) only
@ (a)ang (c) only

175. V‘Vhich of the follaw:_
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— - —

[ —

23

Qelect i 1-:!\“‘”!”]"‘ conditions regquitt o t I
formation of oxvhaemoglohim nt the nlve oh
RL ||||_:h l“)_. low ],|'1'l ] 1 lovw e

temperatyre
2) low
( r',”;:- high peO,, more ey highes

temperature '
3 High
( K 1‘()9 }‘Iluh pCO,. Jess 11 hahen

temperature - |
(4) Low :

oW pQy. low pCO,, more 11! . highet

temperature . | )
Match the following -

List - 1 P

)} List - 11 B
_u_ﬂ Phxysalia (1) |Pearl oyst

. ster
) | Limulus 1) |P :
(& () |Portuguese Man of War

Ancvlostoma

Pinctada

\C

IS (1)
@

(1v)

Living fossil
Hookworm

(Choose the correct
answer from t : o
below. he options given

(a) (b) (@ @
(1 @ @ @ aGv)
2 v @ (@ @
(3 ) @) Gv) O
4 @ (v) (i) ()

Which enzyme is responsible for the conversion of
inactive fibrinogens to fibrins 2

(1)  Thrombin

(2) Renin

(33  Epinephrine

4) Thrombokinase

e treatment of the disease, _early
ding its pathophyanolggy
he following
ful for

For effectiv
diagnosis and understandl? o
ig very important: Wh{ch of o
molecular diagnostic techniques 18

early detection 4
(b Western Blot
(2) Southern Blottin

3)
@)

ting Techniqueé
g Technique

wviu
. nap shows
181 Wi I tage ol maoerotie [ll'lllh-! (
| u ‘ : = 1ct1ve
ternunahisation of chiasmata @48 its distar
fonture ”
wmyloter e
th [ oplotend
(‘2) '/,'. gotene
wl Ihakines
(1 "nchytens
182, With regard to insguhline hp.:.-‘--rr;rrl'f't options.
wont 1in mature insulin.

(n) (-peptide 18 not pre

' rDNA technology

@y The imsulin produc ed by
has C-peptide
(@) The pro-insulin has C-peptide.
@  A-peptide and B-peptide of insulin are

interconnected by disulphide bridges.

Choose the correct answer from the options given

below.
(1) (b)and(d) only
@) (byand (c) only
3) (a)(c) and (d) only
@ (a)and(d)only
183. Persons with ‘AB’ blood group are called as
“Universal recipients”. Thisisdue to:
(1)  Absence of antigens A and B on the surface
of RBCs
@y Absence of antigens A and B in plasma
(3) Presence of antibodies, anti-A and ant1-B.
on RBCs
(4)  Absence of antibodies, anti-A and anti-B, in
plasma
184. Erythropoietin hormone which stimulates R.B.C
formation is produced by :
(1)  Alphacells of pancreas
@)  Thecellsof rostral adenohypophysis
@  Thecellsof bone marrow
@ uxtaglomerular cells of the kidney
185. Which of the following characteristics is incorrec

with respect to cockroach ?
A ring of gastric caeca is present at th

i junction of midgut and hind gut.

2) Hypopharynx lies within the cavity enclose
by the mouth parts.

@ In females, 7th_gth gterna together form
genital pouch.
10th abdominal segment in both sexes, bea)

¥

] cerci.
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3.

(1)
(2)
(3)

Dysfunctio
Parkinson's hisg

Digestive disord

an umll‘HIHl‘{fr'

rll'll‘lll’l\‘ |-¢-,;||““ inta

n ”f Ilnl'l'lllr]f‘ HyHlom

ke

er

4) “Addison's diseaga

Which of the followin

Ovul:

1tion

(MOET) ?

1)

(b))
(3)
(4)

Cow 18 adminis
like activity for
Cow yields aboy
Cow 1s fertilize
Fertilized eggs ;
mothers at 8.392

Is mb 'Yo T T

B8 not a step in Multiple
anafer Technology

tered hormaone having 1,11
Superovulation

W 6-8 eggs at n time

d by artificial msemination

ire transferrved (o sUrrognte
cell stage

Match List - I with List - II.

List -1

List - I1

(a)

Adaptive
radiation

(1)

Selection of resistant
varieties due to excessive
use of herbicides and
pesticides

Convergent
(b) g
evolution

(11)

Bones of forelimbs in Man
and Whale

(c)

Divergent
evolution

(111)

Wings of Butterfly and
Bird

(d)|an

Evolution by

genic action

thropo-  |[(iv)

Darwin Finches

Choose the correct answer from the options given

below.

(@ (b) (o)
1 Gv) @) (@)
2 @) @ a6
G @ O (1)
@ @ Gv) (@)

Which one of the following statements about

Histones is wrong ?

(1) Histones are organized to form a unit of
8 molecules.

(2) The pH of histones is slightly acidic.

(3)  Histones are rich in amino acids - Lysine

a

nd Arginine.

(d)
(@)

(iv)
(iii)

(i1)

(4)  Histones carry positive charge in the side
chain.

Which of the following secretes the hormone,
relaxin, during the later phase of pregnancy ?

(1)  Graafian follicle
4 Corpus luteum
(3) Foetus

4  Uterus

23

192,

193.

r wIL) r'_r‘_.r
(5]

hlllri.u '"l‘
i Fapida hanving only single hond, firy
unspturated fatly me T "
(h) lLecithin :r|:|l-‘l‘|l|'ll||l[;j(].
() 'Ilr‘”l‘{fll"r"i y propane s Hl'f"‘l",]
au 20 carhor at
() Palmitie neid ha 20 carbon ,.,qumr:h
carhoxyl ¢ arbon

(e) Arnchidonic acid has 16 carbon Atom

Choone

below .

the correct answer from the Option,

(1) (;”“nri(hjfﬂl]'f'

(2) (¢) and (d)only

(3) (b) and (¢) only

(4)  (b)and (e)only

Match List - I with List - I1.

_ Haemophilus
(a) |Filariasis (1) il

(b) [Amoebiasis | (i1) |Trichophyton

(c) |Pneumonia |(n) |Wuchereria bane

(d) [Ringworm  |(iv) |Entamoeba histo

Choose the correct answer from the optic

below.

(1)
b))
3)
(4)

@ (b (© @
v) 6 G Gi)
()  av) Q) (1)
O @ Gv) G
@ @ @ G

Identify the types of cell junctions that h
the leakage of the substances across a t
facilitation of com munication with neig
cells via rapid transfer of iong and mole

(1)

(4)

Gap junctions and Adhering j
respectively.

Tight junctiong and Gap )
respectively,

Adhering junctions and Tight
respectively.

Adhering junctions and Gap |

VOoioves -
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18 events occur
H Zone disnppv:ll's

\ band widens

- band reduces in width

Iyosine hydrolyzes ATD, releasing the ADP

nd P
~lines att

ached to actins are pullvd mwards

t-he Cco )
rrect answer from the npi ions ven

3). (0), (d). (&) only
3}, (b), (o). (d) onl‘\'
b). (2). (d), (e) nnl:\'
D), (d). (e). (a) only

ng are " _
'g the statements about prostomium
IWorm.

t S e o QO « ~ - .
€TVes as a covering for mouth.

t helps to open cracks in the soil into which
t can crawl.

t 1s one of the sensory structures.
t 1s the first body segment.
the correct answer from the options given

a), (b) and (¢) are correct

a), (b) and (d) are correct

a), (b). (c) and (d) are correct
b) and (c) are correct

ion (A):
»n goes to high altitude and experienf:es
e sickness’ with symptoms like breathing

ty and heart palpitations.
n(R): | |
tmospheric pressure at high altitude,
ufficient oxygen.

light of the above statements, choose the

from the options given belo.w.
are true and (R) 18 the

low a
y does not gets

not an 1m

£

199.

hese IS’.’-—" .
of thest e oninh
24

LAawnNP rath/

[Langaroo rit

—-.\-l'—l“”. s Rule ' “1‘

l‘l‘l\'*ln]u;"lt';ll )

(n)
Desert hzard
=

)
(h) (n

—

—

[adaptation .
\[arine fish at dep

RBehavioural

_—

200.

(¢) (1)

:Itl.‘llﬂ:\l]ul\_
Biochemical Polar seal

e —

() (1v)

swer from the option!

{.’ll_!:!ll!.‘lif on_

("hoose the correct an

below
(a) (b) (¢ (d)
(1 (v) (n) (m) ()
2), v) Q) (m) ()
av) () (1) (111)e
4) av) (u) (@ Q)

Match List - I with List - II.

List - II
Cartilaginous jo
Flat bone
Fibrous )oints

List - I
Scapula 4 ~4| ®
Cranium,-'% r‘m(ii)
(c)|Sternum O — | (ii1)
(d)|Vertebral colum[Giv)

Choose the correct answer from the options
below.

(a)
(b)

Triangular flat t

@ ®) @ @
o 0 ) @ v
2 @ @ @) @
@ v @@ @ @
@ av) () (i'i) @
Statement I :
The codon ‘AUG’ codes for methionine
phenylalanine.
Statement I1:

‘AAA’ and ‘AAG’ both codons code for the ¢
acid lysine.

In the light of the above statements, choo
correct answer from the options given belc

(1) Both Statement I and Statement
true

@) Both Statement I and Statement
false

3) Statement I 1s correct but Statem
is false

@) Statement I is 1incorrect

Statement 11 1s true
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